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A C R O S S

 1) 22 x 29 = 6 3 8                11) 12,335 + 19,403 =               22) 70.5 ÷  100 =

 3) 96 x 3,923 =                 12) 15 x 23 =                            24) .21 + .16 =

 6) 31.5 ÷  50 =                   14) 756,327.4 x 5 =                   25) 1 – .94 =

 7) 692 – 85 =                   18) 8,100 – 995 =                      26) 20 x 27,679 =

10) 2,568 + 3,095 =            21) 3 x .269 =

D O W N

 1) 2 x 27,689 =                   8) 457 + 253 =                        17) 3 ÷  5 =

 2) 76 x 501 =                      9) 4,032 ÷  12 =                       18) 3,941 – 896 =

 3) 12,969 – 5,231 =           13) 12 x 31,567 =                      19) 32 + 19 =

 4) 161 + 156 =                  15) 4,506,849 ÷  9 =                   20) .222 + .385 =

 5) 611 – 97 =                    16) 89,652 + 484,165 =             23) 269 x 3 =

B E G

This “Calcuword” puzzle is different from any crossword puzzle
you've ever done.  To discover which words to fill in, you must solve

the equations below with your calculator.  Turn the calculator upside
down after you solve each equation and read the word that appears

in the answer screen.  If a word is not familiar to you, look it up in
a dictionary.  The first problem has been done for you.
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A C R O S S

 1) 6 x .1289 = 0 . 7 7 3 4             11) 73 x 106 =                                21) 109 + 236 =

 5) 284 + 334 =                     13) 3,984 – 266 =                     22) 167 x 228 =

 7) 69,426 ÷  9 =                   16) 2,963 + 2,545 =                      23) 499 x 155 =

 8) 607 x .001 =                     18) 578 ÷  17 =                            24) 275,380 ÷  5 =

10) 2.5 – 1.87 =                    19) 74 x 5 =                               25) 3.75 – 3.25 =

D O W N

 1) 3,259 + 445 =                   6) 8 x 47,077 =                           15) .23 + .14 =

 2) 3,932 – 325 =                   9) 3,845 – 85 =                       17) 9,240 ÷  3 =

 3) 200 ÷  5 =                       12) 1,596 + 3,911 =                    18) 263 x 218 =

 4) 14 x 577 =                       13) 967 – 359 =                         20) 5,600 – 63 =

 5) 7,039 + 69 =                   14) 6,168 ÷  8 =

This “Calcuword” puzzle is different from any crossword puzzle
you've ever done.  To discover which words to fill in, you must solve

the equations below with your calculator.  Turn the calculator upside
down after you solve each equation and read the word that appears

in the answer screen.  If a word is not familiar to you, look it up in
a dictionary.  The first problem has been done for you.
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A C R O S S

 1) 1,821 ÷  3 = 6 0 7             11) 17.5 + 20.5 =                      19) 1.43 x .5 =

 5) 56,791 + 947 =              12) 4,160 – 455 =                      20) 85,192 ÷  23 =

 8) 9 x 4,201,797 =              13) 3,632,530 – 992 =                21) 9,527 – 6,482 =

 9) 46 x 16 =                     15) 399,487 ÷  11 =

10) 85,964 – 85,193 =         17) 18,089 x 20 =

D O W N

 1) 3 x 1,879 =                     6) 7,525 – 6,792 =                  16) 12 x 673 =

 2) 1,679 x 30 =                   7) 345 + 460 =                        17) 8,434 – 5,354 =

 3) 10,184 – 2,468 =           13) 5,408 ÷  16 =                       18) 148,876 ÷  28 =

 4) 26,270 ÷  37 =               14) 809 x 7 =

 5) 51,599 + 3,579 =           15) 2,589 + 918 =

This “Calcuword” puzzle is different from any crossword puzzle
you've ever done.  To discover which words to fill in, you must solve

the equations below with your calculator.  Turn the calculator upside
down after you solve each equation and read the word that appears

in the answer screen.  If a word is not familiar to you, look it up in
a dictionary.  The first problem has been done for you.

L O G
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 1) 75 x 601 = 4 5 0 7 5               12) 4,951 + 932 =                     19) 15 ÷  30 =

 5) 1 – .9239 =                       13) 1,549 x 3,433 =                    21) 5,899 – 392 =

 8) 4.02 ÷  5 =                        15) 42 ÷  70 =                             23) 317 x 114 =

 9) 3 x 17 =                          16) 37,108 – 793 =                     24) 45 x 1,283 =

11) 679 + 94 =                        17) 5,061 + 476 =

D O W N

 1) 3,105 ÷  9 =                        7) 110,716 ÷  .2 =                      20) 6 x 103 =

 2) 8,400 – 693 =                    10) 43,691 x 125 =                     21) 1,054 – 417 =

 3) 18,089 x 20 =                    14) 6,207 – 600 =                       22) 94.3 + 240.7 =

 4) .145 + .355 =                    16) 8,021 + 54 =

 6) 24,067 x 221 =                 18) 58,000 – 895 =

This “Calcuword” puzzle is different from any crossword puzzle
you've ever done.  To discover which words to fill in, you must solve

the equations below with your calculator.  Turn the calculator upside
down after you solve each equation and read the word that appears

in the answer screen.  If a word is not familiar to you, look it up in
a dictionary.  The first problem has been done for you.


